SA-II (CLASS-VI) ' 2/2017
SUBJECT : ENGLISH

Ti;ne :3 hrs MM : 80

General Instructions :

i)
ii)
iii)

iv)

Ql.

Read the guestions carefully.

Number the answers as given in the question paper.

Write in a neat and clear handwriting.

Write the answers in complete sentences.
SECTION-A (READING)

Read the passage given below and answer the questions that follow . (7)

In various countries travelling forms an important part of one’s education. In America,
there are associations and organisations which help those people who want to travel
in other countries.

Travelling is an enriching experience. The main motto of any traveller is to see as
many objects of interest as he possibly can. One gets an exposure to different customs,
cultures and historic places, The object of travelling is not to see much bul (o see

well,

Travelling is better than books in many respects. The former appeals to all the
senses whereas the latter only to mind. What is seen and heard leaves a deeper and
more lasting impression than what is read in books. Moreover, bookish knowledge
is theoretical whereas travel trains us in the battle of life. It gives courage, confidence
and real knowledge of men and things. It broadens our mental horizon, deepens our
sympathies and sheds narrow communal, sectional or religious prejudices.

Today there are greater opportunities for travelling than in the pasi. We have now
different means of travel but the best is to travel by foot or by cycle, This enables us
to get into direct touch with all we pass thrbugh or meet and study them thoroughly.
It helps to blend the joy of adventure with the joy of knowledge and experience.
Besides. it is a good lesson in bearing hardships of all sorts-hunger, sun, rain and

fatigue. Further this Is a good training for success in our struggle for existence.

(a) What is the main motto of any traveller? (1)

(b) Why is travelling better than bookish knowledge? (2)

(¢)  Despite the various means of travel, why Is it best to travel by foot or by cycle?
(2)

(d) What would be a suitable title for the passage? (1)

(A-1)



Q2.

()  Find words from the passage which mean the same as given helow : (2xV=1)

(i) principal or objective (i) related to racial or religious gro
Read the poem given below and answer the questions that follow : (6)
Dear Mum,

While you were out

a cup went and broke itself,

a crack appeared in the blue vase

your great-greal granddad

brought back from China.

Somehow, without me even turning on the tap.
the sink mysteriously overflowed.

A strange jam stain

about the size of a boy's hand.

appeared on the kitchen wall.

[ don’t think we'll ever discover

exactly how the cat

managed to turn on the washing machine
(especially from the inside)

or how the sell-raising flour

managed (o self raise.

[ can tell you I was scared when,

as if by magic,

a series of muddy footprints

appeared on the new whiie carpet.

' I was being good (honest),

but I think the house was haunted.
So, knowing you're going to have a fit,
['ve gone over to Gran's for a bit.

(a)
(b)

()

What happened to the blue vase and the cup? (1)

Which phrase suggests that the child might have caused thejam stain on the
kitchen wall? (1)

Whom did the hoy blame for creating a mess at home in his mother's absence?
(1)
Which lines suggest that the child is scared of his mother's reaction? (1)

Write 2 words to describe the boy in the poem. (1)

Find the words from the poem which mean the same as given below @ (2x¥%=1)
(i)  difficult or impossible to explain.
(ii)  believed to be visited by ghosis.

(A-2)



SECTION-B (WRITING)

Q. Kanika has (o go for her coaching class before Paoja returns, so she wriles the

04.

Q5.

Q6.

Q7.

Q8.

Q9.

message for Pooja. Read the [ollowing conversation hetween Kanika and Drishii and
write the message in not more than 50 words. 4)

Kanika : May | know who is calling?
Drishti : Hello Kanika. this is Drishti. Is Pooja home?

Kanika : No Drishti. Pooja has gone (o her friend’s house. She will ba back after
an hour or so.

Drishti :  All right, when she comes back, please tell her that I am going io Reema's
house for her birthday party this evening. If Pooja wants to go there.
please tell her to be ready by 5:80 p.m. I will pick her up.

Kanika @ Don't worry. I'll convey the message. Anything else?
Drishti : No thanks. bye.

You are Sia/Sohan, the Head Girl/Head Boy of your school. You have been asked to
write a notice regarding a sports kit bag found in the playground, Write a notice in
not more than 50 words giving all the essential details. (4)

You are Rohan/Ria. the Head Boy/Head Girl of the middle school. Write an application
to your Principal requesiing him/her to arrange for special coaching in English for

the students of class VI, Give reasons for the same. (6)
SECTION-C (GRAMMAR)
Rearrange the words to make meaningful sentences : (2x1=2)

(a)  succeed/and/be/diligent/will/you
(b)  I/arrived/Delhi airport/2 o'clock/yesterday/at the/at
Fill in the blanks with the suitable plural form of the words given in the brackets ;

(4x14=2)
(a) The (child) are looking at the family (photograph).
(b)  Please keep the bowls of (cherry) on the (shell).
Fill in the blanks with suitable relative pronouns : (2x1=2)
(a)  The girl shoes were stolen is walking barefoot.
() Returnthebook 1 pave you yesterday.
Insert suitable articles to complete the given sentences ; (4x'%%=2)

Mickey Mouse is cartoon character who has become
icon for Walt Disney Company. It is one of the most recognisable
symbols in world.

(A-3)



Q10.

Qll.

Q1z.

fis

Ql4.

Q15.

Fill in the blanks with suitable prepositions : (2x1=2)
(a)  Her parents have been married twenty years. :
(b)  The baby spilled the milk the floor.

Fill in the blanks with the correct degree of the adjectives given in the brackets ;
(2x1=2)

(a)  Suruchiis the team leader in our class. (efficient)

(b) Each new Harry Potter book is even than the previous one. (good)
Combine the following sentences using suitable conjunctions : (2x1=2)
(a)  You are not well. You must stay at home.

(b)  He wiped his shoes. He entered the house.

Read the passage carefully and rewrite it by changing the tense of the underlined
words into past : (bxYe=23)

The sky is grey and getting darker. Suddenly, the rain begins pouring down on me.
A huge gust of wind blows off my hat. Somehow, I reach home. My mother gpens the
door. I eat dinner and put my freezing cold body in my nice little sleeping bag!

Write the following sentences in passive voice : (3x1=3)
(a)  Senali opened the window.
(b) The children were learning the script of the play.
(¢)  Preity has bought a new dress.
SECTION-D (LITERATURE)
Read the extracts given below and answer the questions that follow : (3x1=3)

(A) I will arise and go now, and go to Innisfree.
And a small cabin build there, of clay and wattles made
Nine bean-rows will I have there, a hive for the honey bees,
And live alone in the bee-loud glade,

(@) Name the poem and the poet of the above lines.
(b) What does the speaker plan to do in Innisfree?
(©)  Why does the speaker want to go there?

(B) I went back to my room still dazed and sat on the bed looking at the face on
the wall. And even as I looked snuddenly it completely disappeared.  (3x1=3)

(a) Who is the speaker of the above lines?
(b) What does the word ‘it’ refer to?
(c) Why did ‘it’ disappear completely?

(A-4)



@16. Answer the following questions in 30-40 words each ° (Ax2=6)

]

Q17.

Q18.

Q19.

Q20.

Q21.

() In the lesson, "The Gift', why was the little boy surprised when his father took
him to a dark room?

(b) What suggestion was given by the narraior's first friend to deal with the
elephants on the highway in the lesson ‘Close Encounter of the Jumbo Kind'?

(¢} In the lesson, ‘Broken Bones, Brave Heart'. Konrad decided to participate in
the event, despite his injury, What were the two reasons that made him take
this decision?

Answer the following questions in 30-40 words each : (2x2=4)

(@)  What unfortunate things happened to the cherry tree inspite of which it
survived?

(b)  What lesson do you learn from the beautiful poem, “The Spider and the Fly'?
Answer the following question in 70-80 words : (1x4=4)

In the poem, ‘The Spider and the Fly', what temptations are given by the spider to
the fly in order to make her enter his web?

OR

The poem. ‘Cherry Tree’ is a heari-warming account of a casually sown and long
neglected cherry seed that grows into a full-fledged tree. Elaborate.

Answer the following question in 80-100 words : (1x5=5)

In the lesson, ‘The Case of Copied Question Papers’ Mr. Sherlock Holmes used his
presence of mind and intelligence to reach the conclusion that it was Gilchrist who
had seen the proofs. Give suitable reasons to justify the above statement,

OR

Imagine you are Lieutenant Konrad. Write a diary entry éxpressing your feelings
when you fell from the horse and the doctor advised you not to go for riding the next
day.

Answer the [ollowing question in 30-40 words : (1x%3=3)

Gulliver found himself among glant-sized Brobdingnagians where his size caused
great amusement. How did he land in the country of Brodingnag?

Answer the following question in 80-100 words : (1x5=5)
Describe the tricks that Gulliver performed for the spectators in Brobdingnag.
OR

Gulliver had to face many dangers at the king's palace because of his small size.
Describe any two in your own words,

(A-5)
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SA-2 (CLASS-VI) 3/2017
SUBJECT : MATHS

Time : 3 hrs MM : 80
General Instriuctions :

i)
ii)
iii)
i)
v)
vi)
Ql.
Q2.

Q4.
Q5.
Q6.
Q7.
Q8.

Q9.
@Q10.

Qll.

Q12.

All questions are compulsor;y.

Read all questions very carefully.

Questions 1 to 10 carry 1 mark each.
Questions 11 to 18 carry 2 marks each.
Questions 19 to 28 carry 3 marks each.
Questions 29 to 34 carry 4 marks each.

Find the area of a square of side 8cm.

Give algebraic expression for the given statement :
11 is subtracted from 4 times y.

Represent (-11) on a number line.

Write 21,043 in words.

Find the ratio of 15 minutes to 60 minutes.

Name the triangle which has no line of symmetry.
Write any two negalive integers greater than (-56).

Find the rule which gives the number of matchsticks
required to make a pattern of letter Vas \/.

Subtract 3.127 km from 5km.
Write the opposlte of 15km south.

Number of boys in a school is 1200 and the number of
girls is 800. Find the ratio of the number of girls to the
total number of students in the school.

Draw the number of lines of symmetry for the following
alphabets :

@ A b X

(1)



Q13

Q14

Q15
Q16
Q17

Q18

Q19

Q20

Q21

Days

_Fill in the blank with >, < or =sign.
A7 + (-17) (-90) - (-18) 4

. The perimeter of a regular pentagon is 180m. Find the
length of its each side.

. Express 6cm smm in cm using decimals.
_ Divide £ 72 in the ratio 3:5 between Amrita and Ayush.

A cuboidal box has height h cm. 1t8 length is 4 UMEs the
height and breadth is 7 cm less than the length. EXpress
the length and breadih of the box in terms of the height.

. Write the aumber of lines of symmetry which you can

draw for the following figures :
(a) Rectangle (h) Circle

. Anurag runs around a rectangular park with length 80m
and breadth 55m while Arjun runs around a square park
of side 75m. Who covers more distance and by how much?

. Fill in the blank boxes '
T P Y
21 3 90

. The following pictograph shows the number of T.V. sets
sold by a company during a week. Study the pictograph
and answer the questions below it :

Namber of T.V. sold g 21TV

SO = s
. EpEge

SR v [ | o [ o | LS
AW o [ C

Friday E_g[_:l\;\[:l[;

w  DEL

(2)



Q22,

923,

Q24,
Q25.

Q26.

Q27.

Q28.

(a)  On which day maximum number of TV, gets were
sold? How many are they?

(b)  On which day minimuy number of T.V. seis were
s0ld? How man y are they?

(€} On which two days same number of T.V. seis were
s0ld? How many are they?

Let Tanya's presen age be xyears,

(a)  What will be her age 6 years from now?

(b)  If her brother is 3 years youngder than her, what is
her brother's age?

(©)  If her grandfather Is 7 times her age, what ie the
age of her grandfather?

Cost of 6 notebooks is ¥ 48,

(@) What wil] e the cost of 15 such notebooks?
(b)  How many notebgoks can be purchased with 7 5607
Solve using the number line ; (-9) 4 =4) + (-3)

Neha threw a die 3¢ times and noted the ni mber Appearing
cach time as shown below, Organise the given data using
tally marks :

234855145521621
245144154534555

Determine if the [ollowing ratios form a proportion. Alsg,
write the middle an extreme terms if the ratios are in
Proportion,

30 bags : 18 bags and ¥ 450 : 7 270
(a) Write 320.07 in the place valye tahle,

1
(b)  Express 2-5- in decimal form.

Construct an angle of 30° using ruler gnqg compasses.
Also, write the steps of construction,

(3)



Q29.

A marble tile measures 12m by 10m. How many tiles will
be required to cover a wall of size 180m by 40m?

Q30. (a) Find the sum of (-8), 28, (-32) and 17.

(b) With same centre O, draw two circles of radii 3cm
and bem.

Q31. Richa purchased 5kgd 850g apples, 3kg 900g oranges and
6kg 300¢ mangoes. Find the total weight of all the fruits
that she purchased.

Q32. Pick out the solution from the values given in the bracket
next to the equation. Show that the other values do not
satisfy the equation.
an=20(-4,0,3.9)

Q33. Draw a circle with centre P and radius 4cm. Draw any
chord AB and construct perpendicular bisector of AB.

Q34. The following table shows the favourite outdoor sport of
200 school students :

Sport Cricket | Football | Swimming| Table-tennis
No. of students 80 15 40 65

() Draw abar graph to represent the above in formation
by choosing a scale of your choice.

(b) Mention one benelit of playing outdoor games.

4)



SA-2 (CLASS-VI) 3/2017
SUBJECT : INTEGRATED SCIENCE

Time : 2% hours MM : 80
General Instructions :

(i)  All questions are compulsory.

(i) Mention correct question number and part for each
answer.

(iii) Attempt the questions in the same sequence as given
in question paper.

PART-A

@1. Answer the following in oné word or one sentence each

(a)

(b)

(c)

(d)

(e)

(0

()
()

(15x1=15)
Whal is the colour of the shadow formed if the colour
of the rose is yellow?
Give reason -

Magnets should be kept away from cassettes, mobiles,
televisions and computers.

Ruchika's mother went to market to buy fruits and
vegetables, Which method did she use to select the
best vegetables and fruits in the market?

Madhav found it difficult to dissolve salt in ice cold
walter. Justily giving reason.

Find the odd one out giving reason :
skull, shoulder bone, kidney, ribcage

What is the role of fine hair and mucus present
inside the nose?

Differentiate between green bin and blue bin on the
basis of the waste collected in them.

Define stimuli.
Complete the given analogy

sun : luminous object non-luminous object

(1)



) Why do travellers and navigators use magneti
compass? i

(k) Observe the given diagram carefully and define the
process (b).

clear

Arecens B —
(1) "X isabox formed by the joining of ribs to the chest
bone in the front and backbone at the back. [dentify
sX-‘ 1
(m) The transparent glass of windows. if not wiped off
regularly appears hazy. Why?

() Which gas is taken in and given out during the
process of breathing?

(0) Givetwo examples of non-biodegradable wasies.
Q2. Fillin the blanks (bx1=H)

(a) _is formed when an opaque object comes
in the path of light.

(h) Magnetl attracts materials like fron, and
cobalt. These are called magnetic materials.

(¢) Snail moves with the help of a

(d) Theenvelope of air that surrounds the earth is known
as

(CR— {s an area where the garbage collected
from a city or town is dumped.

(3. Givea tachnical term for the following : (5x1=5)
(a) The living components of a habitat.

(2)




(b) These objects allow light to pass through them and
we can see through these objects clearly.

(¢) This method is used 1o separate grains from their
stalks in the farms.

() The joint where our neck joins the head.

(¢) The surroundings where organisms live.

PART-B
Q4. Answer briefly (10x2=20)

(a) Differentiate between translucent and opaque objects
by diving suitable examples.

(b) Give reasons for the following:

(i) Trees in SNOWY mountains are coné shaped
and have sloping branches.
(i) gnakes stay in burrows deep in the sand.

() We can’'t move our elbow backwards. Justify by
explaining the type of joint involved.

(d) Soniwhile helping her mother accidently mixes arhar
dal and rice flour. Her brother helps her in separaling
the two from each other.

(1) Which method they would have used to
separate the two su bstances?
(i) What value do you learn from Soni's brother?

(¢) Birdscanflyintheairas well as walk on the ground.
Explain the featurcs which help a bird to {ly-

@ (O Whatdoyoumean by adaptation?

(i) State two abiotle components of our
surroundings.

(g) Plastics are non biodegradable. On burning they

produce poisonous gases, which may cause serious
health problems. Suggest two ways to minimise
overuse of plastics.

(3)



(h) State any two uses of air.

(i) Ramu, a farmer would clear his field everyday, an“ﬁ
burn dry leaves fallen on the ground. Alier sometime,
he found that those living in huts near his field
were suffering from cough and other breathing
problems.

(I)  What could he the possible ¢cause of the health
problems faced by people?
(II)  Also suggest an environment friendly way to
dispose dry leaves.
() Atulis given two identical metal bars by his ieacher.
One out of the two is a magnet. Suggest two ways

how he will be able to identify the magnet out of
the two.

Q5. Answer the following : ' (5x3=15) -
fa) (1) Whatisvermicomposting?

(i) Write any two precautions which should be
taken during this method.

(iif) Name the structure used by redworms instead
of teeth for grinding their food.

(b) Look at the figure given below and answer the
questions that follow :

cil
(i) ‘What do you observe in figure (ii) and why?
(4)




Q6.

(¢)

(d)

(e)

(1) Name the component of air which supports
burning.

Magnets become weak if they are not stored properly.

Stale three ways ol storing magnets.

Describe any oneé adaptation present in the following

organisms which helps them to survive in thelr

habitat

(i) cactus (i) mountain goat

(iii) lon

We can separate a mixture of common salt, sand

and kidney beans by using different methods of

separation, Name three methods and give one example

where each of them are used in daily life.

Draw neat and well-labelled diagrams of :  (4+3+3=10)

(a)  Filtration using filicr paper

(b) Types ol magnets (any three)

(¢) Composition of air

Answer the following questions . (2x5=10)
(@) The diagram given below is a part of our skeleton.

Observe it carefully and answer the following
guestions :

(i) Ideniify the part of skeleton, shown in the
diagram.

(%)



(b)

() Name and define the type of joint"A’.
(ii) Which organ of our boady is protected by it
(ivy Which is the only movable joint in the given

diagram?
Observe the given diagram carefully and answer the
following cuestions :
b )
£ moa
T
L ) < -—{!}
l

3 =~

et e

1

() It is used to image the sun and brightly lit
objects. Identify it.

() Label parts (1). (2), (3) and (4).

(i) What is the characteristic of the image formed
by this device?

(iv) State the principle involved.

(6)



SA-2 (CLASS-VI) 2/2017

- SUBJECT : COMPUTER SCIENCE (SET-A)

Time : 2 hrs MM : 50
Q1. Choose the correct answer and wriie it in the answer
sheet : (6x1=6)
(@) A readymade button that is used for defining

(b)

(c)

(d)

(e)

(0

hyperlinks -
()  Action button (i) Play button
(i) Preview button (iv] Hyperlink button

Tab from which video clips can be added to a
slide.

(i) Home (i) Format

(iii) Insert (iv) View

The recorded sound files have extension -

(i) .midi (i) .wma

(iii) .wav (iv) .pptx

String constants in @QBasic must be enclosed
in -

(i) double quotes (iifj comma

(i) apostrophe sign (iv)] semi colon

The value which does not change during the
execution of a program is called -

(i) Variable (ii) Operator
(iii) Statement (ivy Constant
It is the most popular social networking sitle -
(i) Google (i) Facebook

(iii) Yahoo (iv) Bing



Q2. Give one word answer for the following statements
(Bx ~=8)
(a) Special visual effects given to the slides in
powerpoint.
(b) Name the person who developed QB64.

(c) Statement used in @B64 to display the output
on the screen.

(d) Shortcut key used to compile a program into
exe file and run it in QB64.

(e) Extension with which QB64 program file is
saved.

() Date on which Internet service started in India.

(g Name the Internet service that helps the user
to have face to face conversation.

(n) Name the view of powerpoint in which transition
effects can bé seen.

@3. Explain the following : (4x2=8)
(a) E-commerce (b) E-Banking
(@) Internet frec calls  (d) Chalting

Q4. Write the full form of the following : (8x1=3)
(a) ISP (b) WWW
(c) ARPANET

Q5. Answer the following questions -

(a) How will you insert your own sound in a

presentation? (4)
(b) What is animation? How is it helpful in a
presentation? (3)

(¢) Define QB64 language. Wride Lo (3)
two - :
(2)



(d)

(e)

We use ‘BEDMAS' rule to define hierarchy of
arithmetic operators in @B64. What does il stand
for? . (3)
Write any two features of Electronic Mail. Name
any two websites which provide the E-mail
facility. (3)

@6. Answer the following questions in brief :  (3x2=6)

(a)
(b)

(c)
Q7. (@

(b)

What is a variable? What are its two types?

Name the persons who developed BASIC
language.

What is ‘Signature’ in an e-mail?

'Rohit has written four expressions in a QBasic

program. Find the correct ones among these
and rewrite them in the answer sheet. (2)

(i) name = “Aakash”

() marks =60

(ifi) city$ = “ALLAHABAD"

(iv) age$=25

Sonali has written a program to compare marks

of two students. Which operators can she use
for the following conditions? (1)

(i) ‘Less than or equal to'

(i) ‘not equal to'

(3)



“vime : 8 hrs

SA-II (CLASS-VI) : 272017
SUBJECT : FRENCH
MM : 80

General Instructions :

(i) Read all the questions carefully.

(i) Number the answers as given in the guestion paper.
(iii) Write in a neat and clear handwriting.

(iv) Write the answers in complete sentences.
SECTION-A [COMPREHENSION ECRITE]

Al. Lisez.
Le week-end
Louis Tu vas ou le week-end?
Elena Le samedi, je vais au musée.
Louis Et le dimanche?
Elena Le dimanche, je vais au restaurant avec ma
famille. Et toi?
Louls Le week-end. je vais chez mes grands-parents.
Nous allons au cinema.
Elena D'accord. J'ai la classe. A demain,
Louis Tu as la classe de francais?
Elena Non, aujourd’hui, c'est jeudi. Jai la classe
d'anglais. Demain. c'est le francais.
Louis Daccord, A demain.
Al.1 Dites vrai ou faux. (5x1=5)
(i) Elena va au musée le samedi.
(i) Louis va au cin¢ma le week-end.
(i) Aujourd'hui, c'est jendi.
(iv) FElena a la classe de frangais demain.
(v)  Louis va au restaurant le dimanche.
Al.2 Trouvez dans le texte. (2x1=2)
(1) deux jours: =
(i) deuxverbes: i _ o

(1)



A2,

A2.1

A2.2

Lisez.

Ma famille
Bonjour! Je m' appelle André. J'ai 11 ans. Jaime dansér
et chanter. Dans ma famille, il y a six membres : mes
grands-parents, mes parents, mon [rére et moi. Mon grand-
pere s'appelle Arnaud. 11a 70 ans. 1l est actif et intelligent.
Il aime écouter de la musique. Ma grand-meére s’appelle
Martine. Elle a 69 ans. Elle est grosse. Mon péere s'appelle
Relland. 11 a 39 ans. Il esi professeur de [rancais, [l aime
regarder le maich de foot a la télé. Ma mére s'appelle
Catherine. Elle a 36 ans. Elle est chanteuse. Elle aime
chanter. Mon frére s'appelle Philippe. Il a 14 ans. 1l est
étudiant. Il aime jouer au foot et au basket. Il parle francais
et anglais. J'aime ma famille.
Dites vrai au faux. (4x1=4)
(i) Andréall ans.
(i) La grand-mere d'Andre s’appelle Martine.
(iii)  André aime sa famille.
(iv) Catherine a 39 ans.
Choisissez la bonne réponse. (4x1=4)

(i)  Dans la famille I’André. ily a membres.

@) sept (b) six
(c) deux

(ii) Le grand-pére est :
(a) actl (b)  petit
(¢)  beau

(i) Rolland est le professeur de :
(a) anglais (h) francais
(c) italien

(iv) Philippea:
(@ 1lans (b) 12ans
(¢) 14ans

(2)



Sal,

B2.
B3.
B4,

Cl

C2.

C3.

SECTION-B [EXPRESSION ECRITE]
Nommez et dessinez cing choses qu'on trouve dans la

cuisine. (5)
Decrivez votre maison. ()
Préparez votre carte d'identite, (5]

Nommez et dessinez cing choses que les [rangais prennent:
(212x2=0)

(i) Au petit-déjeuner (if)  Au gofiter
SECTION-C [GRAMMAIRE]
Choisissez la bonne réponse. (5x1=5)
(i) C'estle chapeau ________ professeur. (de la/des/
du)

_ tartine. (du/de la/des)

(i) Elle mange

(iii) Nous allons ___ cinéma. (a la/au/aux)

(iv) Jaime __ viande. (le/les/la)

(v) Il n'aime pas fruits. (les/le/1)

Conjuguez les verbes au présent. (bx1=b)
(i) Elle (boire) du coca,

(i) Je (prendre) du gateau.

(iii) Nous ________ (sortir) de la maison.

(iv) Tu (lire) le journal.

vy Ils__ (mettre) les livres sur la table,
Remplissez les blancs avec les professions. (Bx'2=3)

Les professions

Masculine Féminine

(i) | Journalisie

111 —— Boulangére

(iff) | Facleur
(iv) Chanteuse

(v) | Danseur

(vi) Dentiste

(3)




- C4.

Cb.
C6.

C7.

C8,

CAa.

C10.

DI1.

D2.

Mettez au negatil. : (3x1=3
()  Nous aimons les glaces. '
(i)  Plerre va au cinéma,

(lif) Elle mange du chocolat.

Conjuguez le verbe 'mettre’ (4 l'affirmatif). (3)
Mettez au féminin. (3x1=3)
()  Le coiffeur est grand.

() Le juge est intelligent.

(ili) L' instituteur est mince.

Ecrivez le contraire des prépositions. (4x'4=2)
(i) Sur= (ii) Derriére

(ifi) Au dessous de # (iv) A gauche =

Mettez les phrases en ordre. (2x1=2)

(i) ne/Elle/fruits/pas/prend/de.

(i)  parle/au/Sophie/professeur.

Corrigez la faute, (2x1=2)
(i) Il ne boit pas du coca.

(i)  Ils mangent des baguetie.

Chassez I'intrus. (2x1=2)
() le café. le lait. le fromage, le thé

(i)  sur, avec. dans, lire

SECTION-D [LA CULTURE ET LA CIVILISATION]
Dites vrai ou faux. (5x1=5)
(i) Marie est malade.

(il Marie et Sonia discutent dans un café.

(ii) La maison de Marie est petite.

(iv] Le shampoing est dans la culsine.

(v)  Chanel est un fromage.

Reliez les colonnes. (10x%4=5)
()  Lebeaujolais (@) lapréposition
(ii) Le 14 Juillet (b) le salon

(4)



(iif) sur (©) lafeie nationale
(iv) chanteur (d) caroties
(v) lire (e) ledejeuner
(vi) la table (i levin
(vii) un Kkilo de (@) leverbe
(vii) la salade (h) la profession
(ix) le shampoing (i)  le monument
(x) la tour Eiffel () lasalle debains
D3. Choisissez la bonne reponse ! (5x1=5)

() Lamennaie unique européenne est .

(a) leuro (b) laroupie

(¢) ledollar
(i) Soniaest:

() [rancaise (b) italienne

(¢) indienne
(i) La chambre de Maric est au :

(@) premier étage (b) deuxieme élage

(c) troisiéme etage
(iv) Lescléssont la table.

(a) sous (b) sur

(c) dans
(v) Lamérede Zoé est:

fa) professeur (b) chanteuse
(c) pilote
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Roll No.: ] Date : Class : VI Section: Lg;l l

SUBJECT : SCIENCE (MULTIPLE CHOICE QUESTIONS)

Time : 30 minutes MM : 16

General Instructions :

i)

ii)

iit)
)

v)

Q1.

Q2.

Q3.

Q4.

Attempt all the questions.

There are 15 multiple choice questions in total. Only one of the options in
every question is correct. Put a (~) against the correct option.

Each question carries 1 mark.
Do not use white fluid on these sheets,
Use only pen to mark the answers.

There is no dark shadow formed by the -"trrd'\
glass when light is thrown on it. This is
because -

‘hﬂkﬂ:
(a)  Glass is an opaque object. \
(b) Glass is a transparent object. \X j]
(¢) The light is not bright ‘

(d) There is no darkness.

The figure shows a ring magnet, X ‘floating” above
another ring magnet, Y. This is because -

(a) Magnet X is lighter than magnet Y.

(b) Magnet Y is more powerful than magnet X.

(¢) The like pgles of both magnets are facing each C y
other and they repel each other. —

(@) The unlike poles of both magnets are lacing each Qrb
other and they attract each other.

Which of the following is NOT a characteristic of the image formed by a plane mirror?

{a) inverted () same size as the object

() coloured (d) laterally inverted

You can rotate your arm at the shoulder region but cannot do the same at the elbow
region. The type of joint present at the shoulder region 1s -

(a) ball and socket joint (b)  hinge joint

(@) pivotal joint (d) [lixed joint



Q5. When an empty boltle is dipped into a bucket filled with waler and tilted slightly.
bubbles escape out. This indicates that -

(a)  air occupies space (b)  air has weight
(c) air contains oxygen (d) air contains nitrogen

Q6. Cactus planis grow in the desert where there is scarcity of water. To prevent loss of
water from the surfaces, leaves are modified to become spines. Then, which part of
the cactus plant performs photosynthesis?

(a) spines (b) roots
(¢) flowers (d) stem

Q7. Which method of separation is demonstrated by the
diagram given alongside.

(a)  sedimentation
(b) decantation

(c) filtration

(d) evaporation
Q8. In the diagram given above (Refer to Q7) X and Y represent -
(a) X - sediment, Y - filtrate (b) X -residue, Y - filtrate
() X -sediment, Y - decanted water (d) X - sediment, Y - supernatant

Q9. Which of the following joints move in a similar way as that shown in the given

figure?
(a) ankle and knee joint : () neck and wrist joint
(¢) hip and shoulder joint ' (d) elbow and knee joint

Q10. Which of the following mixtures require a sieve for separating their constituents?
(@)  chalk powder and flour (b) salt and water

(c) sugar crystals and flour (d) iron filings and sand

(A-2)



-@11.

Q12.

013.

Ql4,

Q15.

How will you dispose plastic waste?
(@ throw it in a street corner (b)  make compost from it
() sellit to a vendor for recycling () throw it in a drain

A magnet shown below is cut into two pieces. In which of the following are the poles

correctly marked?

() [NSE ESN b [NSZ 3NS
@ [NNZ ZSS @ [ss8% ENN
Which of these is an abiotic component of a habitat?

(a) grass (b) insects

(c) soil () plants

Reeta took a lump of dry soil in a glass and added water to it. She observed bubbles
coming out of water. This activity proves that -

(a) water contains air (h)  sail contains air
()  soil contains water (1) water contains soil

A gas X takes up nearly four-fifth of the space that air fills. It is needed to conirol
burning. The gas X is -

(a)  nitrogen (b)  oxyden

() water vapour (d) carbon-di-oxide



